FER2FETETE

B {+ iR T% B 4 B =5
EH225F48 1B |K  |BIEEER BiE
48| 58 |B |ER#BEHERBBRBER 19:45| B X 4t
58 8B |t |BHIOSHEES-BER 1400| AERHBE
58298 [t |#2EIESER 16:00| fREE= AR SESFRERE
68 58 [t |BYOXHER-KER(16:00) 15:00|i3:&5 57
68 268 |t |EHBRR-REERGRE) 16:00| RERH A JL— L
78 38 | |BEIOHRZES 15:00| AESHE
78 58 |A |ARAEHESHES B2 19:30| FEER
7B 178 |t |HE27EEERHRS 14:00| RERRSEE (RER)
7R 208 [k |AEFRERRHABEEOBHS 18:00| 3/ :MAOU R U a VU &
7R 1248 | |FIEXEBER 14:00( 7 LATAT
7R 248 | |HREEBE=R 15:30( 7 ILAT AT
78 248 [t |WUEBEHER 17:30| 7 ILHT4T
9R 128 (B BIOmER - HRBERGIHESR 13:00| REFSHHRTIL (RREBXZERIEY)
98 116A K |PAREXRIBLESE 14:00| {fREES AR SESFRERE
108 48 (A |RR#AKSHEXHESHER 19:45| B X 4t
1A 68 |t [(EIo®HEzER 15:00| AESHE
MA 138 |t [(EJoX&EES 16:00[ ERE RN )L— L
118 208 |t |$278EEEKFAEES 14:00( R ERR LR (W)
12A 68 |A |REHBIHRERBER TER 19:30| FEER
128 1B |t |BI0EHRZER 16:00| AR RHE
ER23E1A (228 | [FE279EEERAES 14:00| RERRZEE (KE)
1A298 |+ |$F2EXZEHBESR 16:00| 7 ILAT47
1A 298 | |#HEEHK= 18:00( 7 ILAT AT
2 78 |A |RR#AEHESGESESES 19:45| AN =1t
2 128 |2 |BEJO%ER-LHEES 15:00| AR SHE
2R 198 (£ |FE2BEFS-BERAHSERFHES 13:00| RERRE
2268 [t |HIEIESER 16:00| fREB= AR SESF R ERE
3A 5B |t |EJOXHRE-KER(16:00) 15:00| AR DA JL—Ls
3SA19B [ |$280EEEKRHIES 1400 RERRELE (P R)
3A 268 [t |EHR=2-REES(FEHE) 16:00| AR DA JL—Ls

XEBEERIBAFUKERRE




